Multiplication par Puissances de Dix (I)

Trouvez chaque produit.

18 X 10 = 48 X 10 =
58 X 100 = 93 x 1000 =
78 X 100 = 22 x10 =
60 X 10 = 42 x 10 =
60 X 10 = 91 X100 =
47 x 1000 = 28 X 10 =
68 X 1000 = 5x10=
96 x 1000 = 50x1000=
6 X 10 = 13 x10=
41 x1000= 78 X100 =
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Multiplication par Puissances de Dix (I) Solutions

Trouvez chaque produit.

18 x 10 =180 48 x 10 =480

58 x 100 =5 800 93 x1000=93000
78 x 100 =7 800 22 x10=220

60 X 10 =600 42 x 10 =420

60 X 10 = 600 91 x100=9100
47 x1000=47000 28 x 10 =280

68 x 1000 =68 000 5x10=50

96 X 1000=96 000 50 x1000=150000
6 X 10 =60 13 x10=130

41 x1000=41000 78 X 100 =7 800
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